&

Steelcraft MODEL
ELEMENTS FOR LIFE OUTSIDE" LA-05
MTEELCHAFT com DELUXE FIBERGLASS
1-800-371-2438 BACKBOARD
DO NOT SCALE DRAWING 1-5/8" THICK

FIBERGLASS

“T" NUTS
2 TOTAL

39"

26 1/4"

N 1B

.

T

41/2"

o1

11/2"

Y

54"
-05 BASKETBALL

A

[T13

RESIN IMPREGNATED
HONEY COMB CORE

1-5/8" —=j=~—"

|l
TYPICAL- SECTION
NOTE: SPECIFICATIONS ARE SUBJECT TO CHANGE

BACKBOARD

INSIDE 3/16" FIBERGLASS SHELLS

3/8" EMBEDDED

STANDARD HARDWARE KIT FOR USE
ONALL BACKBOARD INSTALLATIONS

Qty

3/8-16 x 3-1/2" GR5 Fully Threaded Hex Bolt Zinc | 4
3/8-16 x 1" GR5 C/S Zinc Hex Bolt (Cap Screw) 2
3/8-16 x 2" Flat Head Socket Cap Screw 18.8 SS 7
3/8" USS Flat Washer Zinc 15

3/8-16 Insert Nylock Zinc (2500)

11

DO NOT SCALE DRAWING | DATE: 9/21/08 DRAWN BY: AFS



rroberts
Typewriter

christian
Typewriter

christian
Typewriter




